Apartment in Sliema



Sliema, Sliema and St Julians Surroundings



€1,900,000

Total Rooms: 8

Bathrooms: 2

Floor Area (m²): 226

Reference No: 240471014-1030

P☐ Bedrooms: 3

Apartment - For Sale - Sliema

TIGNE POINT - A highly finished 6th Floor luxury Apartment, forming part of Tigne Point, enjoying access to various facilities, including a communal swimming pool. Accommodation is spread on approximately 226 sqm and comprises of an entrance hall, good sized open plan fitted kitchen/dining/living, guest toilet, main bathroom, utility room, box-room, 3 double bedrooms, shower en-suite, a front terrace with views of Valletta, a back balcony overlooking the Piazza and a drying area. 2 car side by side lock up garage. Property is being sold FREEHOLD which is a big plus for this much sought after Residential complex. Highly recommended!

Features

En Suite

✓ A/C

Terrace

Balcony

Rooms

✓ Single Bedroom : 5 x 5.3 m (26.5 m2)

✓ Kitchen: 3.9 x 6 m (23.4 m2)

✓ Hall : 2.2 x 3 m (6.6 m2)

Living/Dining : 5.1 x 7.6 m (38.76 m2)

Single Bedroom: 4.2 x 5.1 m (21.42 m2)

✓ Laundry: 1.3 x 2.7 m (3.51 m2)

✓ Single Bedroom : 3 x 5.4 m (16.2 m2)

Bathroom : 2.3 x 2.3 m (5.29 m2)

Shower Ensuite : 2.2 x 3 m (6.6 m2)

Gallery

































Mark Micallef RE/MAX Luxe - Sliema

M: 99423070

E: mmicallef@remax.com.mt

T: 27992796

RE/MAX Luxe - Sliema 58, Tigne Seafront, Sliema, Malta